VCE & PDF https://www.passapply.com/ncp-5-15.html
2024 Latest passapply NCP-5.15 PDF and VCE dumps Download

PassApply.com

NCP-5.15%4As

Nutanix Certified Professional - Multi cloud Infrastructure (NCP-MCI
5.15)

Pass Nutanix NCP-5.15 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.passapply.com/ncp-5-15.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Nutanix
Official Exam Center

@ After Purchase

© Guarantee

@ Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

NCP-5.15 VCE Dumps | NCP-5.15 Practice Test | NCP-5.15 Study Guide 1/3


https://www.passapply.com/ncp-5-15.html
https://www.passapply.com/ncp-5-15.html
https://www.passapply.com/ncp-5-15.html

VCE & PDF https://www.passapply.com/ncp-5-15.html|
2024 Latest passapply NCP-5.15 PDF and VCE dumps Download
PassApply.com

QUESTION 1

An administrator is configuring NTP for Nutanix cluster.

How many NTP sources must they configure to identify a false ticker and provide redundancy?
A2

B. 4

C.3

D.5

Correct Answer: B

QUESTION 2

Which three drivers are included in the Nutanix virtio package? (choose three) A. SCSI drivers
B. memory Balloon driver

C. USB driver

D. Video driver

E. NIC Drivers

Correct Answer:. ABE

QUESTION 3

An administrator responsible for a VDI environment needs to investigate reports of slow logins. The administrator finds
that increasing the number of vCPUs from 2 to 4 will reduce the login times. Production workloads are consuming 75%
of the host CPU on the cluster. The administrator increases the vCPU count on all of the VDI VMs.

What are two impacts on the cluster? (Choose two)

A. Increasing CPU counts will decrease memory utilization

B. Increase memory utilization%

C. Increase CPU utilization%

D. Increase CPU ready%

Correct Answer: AB

QUESTION 4
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The external identity source (e.g., Active Directory) is unavailable.

Which account should be utilized as the Emergency Local Account lor both Prism Element and the CVM?
A. Administrator

B. root

C. admin

D. nutanix

Correct Answer: D

QUESTION 5

A VM user permanently deletes a directory on a guest VM. The Nutanix administrator has enabled Self-Services for this
VM.

Which three steps must the administrator perform to restore the directory? (Choose Three)
A. Create a clone of the VM from a previous snapshot and replace the original VM

B. Connect to the cloned VM and copy the directory to the source VM

C. Copy the directory from the snapshot disk to the original VM disk

D. Launch the Nutanix SSR utility on the VM

E. Select and mount the snapshot that contains the deleted directory

Correct Answer: CDE
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